¥0H=~

(6-5) ¥

/P

2r 21 ¥

" F

AGER -

KEERF 4044

w8 LA

g & ,f 2

P

33

*
IR

s—II-2 ;R F% 5 chi & > e f ~ F
BE BE FERELPE S

3 o =2 g

R =

S6-3F% F~F%* &£ ~F o Ff> %)m
AR e fF ot o KB E EG
%%°4r¢J1113u%”#ﬁi-(l)F3~>£-360;
(2) B2)9n k& ¢ $(3) 57 1 C R
mf’ﬂ%?&ﬁ“&ﬁ*(l) + £ o
e

5\9*

ub L E MRS

@Al L FFEp AR
#-E-Al & %iaﬁﬁ‘ﬁﬁﬁﬁ?
4&1;\}5;%’}@ B YRR T
i RHRF F T E *ﬁﬂﬁiLﬂo
C YV S E LRy
HE-A2 2 & A~ ehd g 1T

4~

TRt Jfﬂ F:\éé * 07 §8 22 4P ¥ R
o ap ¥ ABEERY KT L
2 iR AR AR

QA3 LI 72 LIFTRE
B-E-A3 s B p ¥ A AR
BB BB o 3 R ERTRA
PPAR et g o AfR AR EEZ (8 0 W
HCEEREND VAZDRY o
OBl #E5F* BiE 4
#BEBlEHp¥E:s oy 2§
MEEEL Beddea 4 0 TR RR
FIEPFRYZAEEHFEHFR R
Wp KT PSR T 1
HELA T
[ NREVIEE S S
#-E-B3 & & B X iR e
%‘?ﬂj’a‘gzﬁﬁf‘iﬁ??% °

OC] i/ Fme o g
#-E-Cl £ %4@%_#;& mE LR
foi A G EREE DB R -

@C2 L "2l HE B} & iF
BE-C2 #xvris A L ivfa -t 3L
FEAE A e R AL R o

4}\0

o~ ik
s
2 7R

7

@ iERT
AJ4 0 R E
@ ERLI KT
E J2 E ,% 4 /}ii-;g_‘éjmfr"’—\.b%*%é: o

HDRR > T A2 EYF

CERY
B/
thid

7“+

B~

REEMT ~ALE - pAPE CFE




?Z @i - wlE -} N6E A
KE%A | @K VT
/TR P32
g¥p¥%
1.2 fE 50 s 2 HiF
2. T8 jRAF & )0 ff e id o
KPR
KREFBPFE2F%5 5 R | gL
[y~ ]
- THRBAY I/ PR LGERLST Y 12 @2 czm

@

| 2cm

e | 2¢m -

@

T | Bme

| Ocm

20cm

94 & p ik RALR 2L :

1
(D12x2x3. 14XT =18. 84

18.84+12+12=42. 84
F N 42.84 2 &

i & e 1




120 1

1
15%x2x3. 14XT:31-4
31.44+15+15=61.4

F 19614 ¢

1
(310x2x3. 14x—5x2

=62.8
62.8+20x2=102. 8
2 159102.8 24
1
@10)(3. 14XT><4:31_4
31.4+10x2=51.4
% 185142

% - ER 200 a4 e o HEL T30 24 0 [l £ B0TchBAE S 2 B

S HFIT RS 2

30x2x3. 14><%:31. 4

31.4+30x2=91.4

200—91. 4x2=17. 2

9172 &

L AR ST E R R

e A4 wm

10

18

@5 T4
@ik P

S
@i k%t




8cm

6cm

s | Qem T

16cm

300
D300+360=—"%z7"=

2% & RPRATR FRAT
o
360 6

6x6x3. 14><%= 94.2

%15 94.2 T e
@20:2=10
180° —135° =45°

45
10x10x3. 14xw

1
=314><?

=39.25

F539.25 X3 o
@10+2=5

5xHx3. 14+2=39. 25
6x8+2=24
39.25—24=15.25
916203 2k

1
@16x16x3. 14XT: 200. 96

16+2=38

8x8x3. 14+2=100. 48
200.96—100. 48=100. 48
£ 0% 100.48 L 3 24




1
®12x12x3. 14><7

—996. 08
% 1% 226,08 T 2 2 A
~ETHRL/ED H~

o

=2
9

R
i

@5 — WHE - b A




